PR 1E2E © Hwl

September 12, 2025

HH
|, lim ¥ F1=2

x—3 x—3

2. fim SNOY)
x—0 2x

3. ;i_r)l(l)xcos(%) R | R EH)

fRE
o Vx+1-2
1. Ilm ——

x—3 x—3
DT BREIE Ve +1+2 ¢

Vx + —Z.Vx+l+2_ (x+1)—-4 3 x-3 3 1
X=3  Vi+l+42 (x-3)(Va+1+2) (-3)(Va+1+2) Vx+l+2

. Vx+1-2 1 1 |
lim = = :.
=3 x-=3 V3+1+2 2+2
. sin(5x
2. lim (5x)
x—0 2x

5 HEAG R A R

sin(5x) _ sin(5x) 5 lim
2x  5x 2 =0 2X

sin(5x) ~ {tim sin(5x) § _1.
x—0 S5x 2



x—0 X

1
3. limxcos(—)
RAEA x208BA -1 <cos(l/x) <1’ #
1
—|x| chos(—) < |x|.
X

X li_r)r(l)(—lxl) =0= )113% x| > HIARHEEHE RS

x—0 X

limxcos(l) =[0].



